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Exercise

1. If the total interest of some money in y years

at the rate of simple interest x% per annum is

Rs , then the principal becomes
Pyx

25

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_tNwGdHdWIZx4


A. Rs 2 P

B. Rs4P

C. Rs 

D. 

Answer:

Watch Video Solution

P

2

Rs
P

y

2. Sum of the roots of equation

 isx2 − 6x + 2 = 0

https://dl.doubtnut.com/l/_tNwGdHdWIZx4
https://dl.doubtnut.com/l/_deMwsHoZSLUE


A. 2

B. 

C. 6

D. 

Answer:

Watch Video Solution

−2

−6

3. In  and , 

, AB:ED =AC:EF and 

=

△ ABC △ DEF

∠A = ∠E = 40∘

∠F = 65∘ , ∠B

https://dl.doubtnut.com/l/_deMwsHoZSLUE
https://dl.doubtnut.com/l/_EiwyRZdaaQQ4


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

35∘

65∘

75∘

85∘

4. Write True or False 

If then the minimum value of

 is 2.

0∘ ≤ α ≤ 90∘

(sec2 α + cos2 α)

https://dl.doubtnut.com/l/_EiwyRZdaaQQ4
https://dl.doubtnut.com/l/_SKnXswJJCFBE


A. 1

B. 2

C. 

D. 0

Answer:

Watch Video Solution

5

2

5. The volumes of two right circular cylinders

are same. The ratio of their height is 1 : 2. Find

the ratio of their radii.

https://dl.doubtnut.com/l/_SKnXswJJCFBE
https://dl.doubtnut.com/l/_DJ2iAgz0AaT7


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

1: √2

√2: 1

1: 2

2: 1

6. Median of a frequency distribution indicate

graphically with the help of

https://dl.doubtnut.com/l/_DJ2iAgz0AaT7
https://dl.doubtnut.com/l/_C3iYiqyub6DW


A. frequency line

B. frequency polygon

C. Histogram

D. Ogive

Answer:

Watch Video Solution

7. Fill in the blanks: 

Without any other conditions in a partnership

business, if the capitals of all the partners are

https://dl.doubtnut.com/l/_C3iYiqyub6DW
https://dl.doubtnut.com/l/_yrFoHJhwH22e


invested for different time period, then such a

business is called____.

Watch Video Solution

8. Fill in the blanks: 

If  and , then ______.

Watch Video Solution

xαy xαz (y + z)α

9. Fill in the blanks: 

If the opposite angles of a quadrilateral are

https://dl.doubtnut.com/l/_yrFoHJhwH22e
https://dl.doubtnut.com/l/_q9tZQNXI9kOD
https://dl.doubtnut.com/l/_bhuj6lxrAqwU


supplementary then the vertices of the

quadrilateral are____.

Watch Video Solution

10. Fill in the blanks: 

If A and B are complementary angles then sin

A =__.

Watch Video Solution

https://dl.doubtnut.com/l/_bhuj6lxrAqwU
https://dl.doubtnut.com/l/_cAqLInX9Bx9Z


11. Fill in the blanks: 

In right angled triangle ABC,AC is hypotenuse.

If we rotate the triangle completely with

respect to the side AB, then a right circular

cone is obtained. The radius of the cone

is_____.

Watch Video Solution

12. If 35 is removed from the data 30, 34, 35, 36,

37, 38, 39, 40 then the median increased by

https://dl.doubtnut.com/l/_QhdcMEN7B3dx
https://dl.doubtnut.com/l/_WMAe3IVB3nge


Watch Video Solution

13. Write True or False 

If the ratio between principal and amount is

8:9, then the rate of simple interest per annum

is 1%.

Watch Video Solution

14. Write True or False 

 and  are similar surds.

Watch Video Solution

√75 √147

https://dl.doubtnut.com/l/_WMAe3IVB3nge
https://dl.doubtnut.com/l/_MPAIeG5ZTmbX
https://dl.doubtnut.com/l/_fDVBkfxv2bwX


15. Write True or False 

If the ratio of three sides of a triangle is 3:4:5,

then the traingle is always a right angled

triangle.

Watch Video Solution

16. Write True or False 

If  then .

Watch Video Solution

sin(θ − 30∘ ) =
1

2
sec θ =

2

√3

https://dl.doubtnut.com/l/_fDVBkfxv2bwX
https://dl.doubtnut.com/l/_t3syUEfsJCR9
https://dl.doubtnut.com/l/_Yt1f60L1NVcc


17. Write True or False 

The volume of the largest solid cone that can

be cut cut out from a solid hemisphere or r

unit radius is  cubic unit.

Watch Video Solution

πr3

3

18. Write True or False 

Mode of 102,104,117,102,118,104,122,102,104,120 is

120.

https://dl.doubtnut.com/l/_Yt1f60L1NVcc
https://dl.doubtnut.com/l/_ZP4RYqoZ2wwy
https://dl.doubtnut.com/l/_p26FfkLmkbeG


Watch Video Solution

19. In a partnership business of two partners

total profit is Rs 1,500. If the capital and profit

share of Rajib are Rs 6,000 and Rs 900 resp.

Then find the capital of Aftab.

Watch Video Solution

20. If the compound interest of some money

for 2 years at the rate of compound interest

https://dl.doubtnut.com/l/_p26FfkLmkbeG
https://dl.doubtnut.com/l/_xxd0r95lDLDC
https://dl.doubtnut.com/l/_N8NxfBCoVG4z


5% per annum is Rs 615, then find the invested

money.

Watch Video Solution

21. If  then find the value of 

.

Watch Video Solution

x = 3 + 2√2

x +
1

x

22. If x,12,y,27 are in continued proportion then

find the positive value of x and y.

https://dl.doubtnut.com/l/_N8NxfBCoVG4z
https://dl.doubtnut.com/l/_xLhe52lHPIFI
https://dl.doubtnut.com/l/_9DacEDZMK9oh


Watch Video Solution

23. P is any point inside the circle with centre

O. Calculate the minimum length of chord

through P if the radius of the circle is 5cm and

OP= 3cm.

Watch Video Solution

24. O is any point inside the rectangle ABCD. If

OB = 6cm, OD = 8cm and OA = 5cm, then find

https://dl.doubtnut.com/l/_9DacEDZMK9oh
https://dl.doubtnut.com/l/_wI59OyKO3cvH
https://dl.doubtnut.com/l/_KOXsCfiP5CXs


the length of OC.

Watch Video Solution

25. In , D and E lie on AB andAC

respectively such that DE||BC and AD:DB = 3:1

then calcualte AE:EC.

Watch Video Solution

△ ABC

26. If sinA+sin B = 2 when , then

find the value of (cosA+ cos B).

0∘ ≤ A ≤ 90∘

https://dl.doubtnut.com/l/_KOXsCfiP5CXs
https://dl.doubtnut.com/l/_emjc1ZU63R6T
https://dl.doubtnut.com/l/_QUUitX1Wwozk


Watch Video Solution

27. Area of curved surface of a solid sphere is

equal to the curved surface area of a solid

right circular cylinder. If the height and the

length of diameter of the cylinder both 12 cm

in length, then calculate the radius of the

sphere.

Watch Video Solution

https://dl.doubtnut.com/l/_QUUitX1Wwozk
https://dl.doubtnut.com/l/_fIF0H3C8S7Pq


28. If the radius of a right circular cylinder is

increased by 50% and height is decreased by

20%, then the percentage change in volume of

cylinder is

Watch Video Solution

29. Find the value of .

Watch Video Solution

10

∑
i = 1

(10 × i)

https://dl.doubtnut.com/l/_E1H1Vg8NDdeT
https://dl.doubtnut.com/l/_UkjphXxW5PE1


30. A bank gives 5% simple interest per

annum. In that bank a man deposits Rs 15,000

at the beginning of the year but withdraws Rs

3000 after 3 months and then again, after 3

months the deposits Rs 8000. Find the

amount (principal along with interest) he will

get at the end of the year.

Watch Video Solution

https://dl.doubtnut.com/l/_kDnjI7pBKUtF


31. As a result of sarba Siksha Abhiyan, the

students leaving the school before

completion, the students are readmitted, so

the students in a year is increased by 5% in

comparison to its previous year. If the number

of such readmitted students in a district be

3,528 in the present year, then find the number

of students readmitted 2 year before in this

manner.

Watch Video Solution

https://dl.doubtnut.com/l/_s20tSbpJeVMt
https://dl.doubtnut.com/l/_EJu1dgA8AaWd


32. A teacher on attempting to arrange the

students for mass drill in the form of a solid

square found that 24 students were left over.

When he increased the size of the square by

one student he found he was short of 25

students. Find the number of students?

Watch Video Solution

33. Passing through the point (– 4, 3) with

slope 1/2 then the equation of the line is?

Watch Video Solution

https://dl.doubtnut.com/l/_EJu1dgA8AaWd
https://dl.doubtnut.com/l/_q2EeEKHLKX1d


34. If 

,then find the value of x.

Watch Video Solution

+ = 14
x + √x2 − 1

x − √x2 − 1

x − √x2 − 1

x + √x2 − 1

35. If  and  then show that

.

Watch Video Solution

aαb bαc

a3b3 + b3c3 + c3a3αabc(a3 + b3 + c3)

https://dl.doubtnut.com/l/_q2EeEKHLKX1d
https://dl.doubtnut.com/l/_gnHaOS0KGIIk
https://dl.doubtnut.com/l/_d08hcSyWeRSS


36. What should be added to each of a,b,c,d to

make the sums proportional?

Watch Video Solution

37. If  , show

that (a+b+c)(x+y+z)=(ax+by+cz).

Watch Video Solution

= =
x2 − yz

a

y2 − zx

b

z2 − xy

c

https://dl.doubtnut.com/l/_MkrLSYl9A9Bo
https://dl.doubtnut.com/l/_p4LNG8CzpUO5


38. Answer any One queation : Prove that, if a

perpendicular is draw on the hypotenuse from

the right angled triangle, two triangles so

formed on the two sides of the perpendicular

are each similar to the original triangle and

also similar to each other.

Watch Video Solution

39. Prove that opposite angles of a cyclic

quadrilateral are supplementary

https://dl.doubtnut.com/l/_rzfe5p7QbY9i
https://dl.doubtnut.com/l/_Y4fOwAvcHbVR


Watch Video Solution

40. The radius of a circle is 8 cm. Calculate the

length of a tangent drawn to this circle from a

point at a distance of 10 cm from its centre?

Watch Video Solution

41. Two tangents AB and AC drawn from an

external point A of a circle touch the circle at

the point B and C. A tangent drawn to a point

X lies on minor arc BC intersects AB and AC at

https://dl.doubtnut.com/l/_Y4fOwAvcHbVR
https://dl.doubtnut.com/l/_N8kTRVUR8rEu
https://dl.doubtnut.com/l/_Q0nLqQ8V7B4Y


the points D and E respectively. Prove that

peremeter of .

Watch Video Solution

△ ADE = 2AB

42. Draw a triangle whose two side are 7.6 cm

and 6 cm in length and the angle between

them is . Now draw the incircle of this

triangle.

Watch Video Solution

75∘

https://dl.doubtnut.com/l/_Q0nLqQ8V7B4Y
https://dl.doubtnut.com/l/_SHC9q7OZQSsJ


43. Geometrically find the value of .

Watch Video Solution

√29

44. Find the values of

.

Watch Video Solution

+ sec2 45∘ − cot2 45∘ − sec 60∘2 tan2 30∘

1 − tan2 30∘

https://dl.doubtnut.com/l/_mZuzpUOWGYAK
https://dl.doubtnut.com/l/_wJE7dZDEZXO4


45. If , prove that 

.

Watch Video Solution

α + β = 90∘

sec2 α + sec2 β = sec2 α sec2 β

46. If , prove that 

Watch Video Solution

sec θ + tan θ = x

sin θ =
x2 − 1

x2 + 1

https://dl.doubtnut.com/l/_kII5CqWhqksp
https://dl.doubtnut.com/l/_ofHiPkIDIa1r


47. A man standing on a railway bridge 

meters high, observes the engine of a train at

an angle of depression . But after 2

seconds, he observes the engine at an angle of

depression  on the other side of the

bridge. Find the speed of the train.

Watch Video Solution

5√3

30∘

45∘

48. Two towers are situated at a distance of

 metre and the height of one is twice120√2

https://dl.doubtnut.com/l/_E8J9ncx2h47x
https://dl.doubtnut.com/l/_NSWiR1qiZ9tE


the height of other. From the mid point of the

line joining the bottom of them the angle of

elevaion of the top of two towers are

complementary. Find the heights two towers.

Watch Video Solution

49. The length of the radius of cross section of

a solid right circular rod is 3.2 dcm. By melting

the rod 21 solid spheres are made. If the radius

of the sphere is 8cm, then find the length of

the rod.

https://dl.doubtnut.com/l/_NSWiR1qiZ9tE
https://dl.doubtnut.com/l/_qgGe1fIgC1Hv


Watch Video Solution

50. Length of radius and height of a right

circular draw are 21 cm and 21 cm respectively

and the length of radius of a solid sphere is 21

cm are taken. After filling the dram completely

with water, the sphere was totally immersed

and then picked up. Now measure the depth

of te level of water in the dram.

Watch Video Solution

https://dl.doubtnut.com/l/_qgGe1fIgC1Hv
https://dl.doubtnut.com/l/_M3QoslWq44ii


51. The length of two sides adjacent to right

angle of a right angled triangle are 15 cm and

20 cm. Calculate the volume of the solid

formed by completely revolving the triangle

once by taking the hypotnuse as axis.

Watch Video Solution

52. Calculate the mean of obtained marks of

64 students from the given data. 

https://dl.doubtnut.com/l/_LQ5TIDkOseeG
https://dl.doubtnut.com/l/_W39my5uz2NqS


Watch Video Solution

53. Find the median of the following data. 

Watch Video Solution

54. Calculate the mode of the following data. 

Watch Video Solution

https://dl.doubtnut.com/l/_W39my5uz2NqS
https://dl.doubtnut.com/l/_v05XiW9XIGlX
https://dl.doubtnut.com/l/_8TMRHGzjAWOD



